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qremreiardr SEG) / Guidelines for the Candidate
1. 39eATd ATarT g YRET $ApMI 3cdl 9T Porear et & eardr.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. 9Rel g% groaydl fearedisr carear 9ol Argdrdr @ aoaErdr 30 A it 9o dvard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYTARHET THKUT 100 TR& 3 Tcdh JRAATST 2 0T 3Te.
This question booklet contains 100 questions each question carries 2 marks.
4. ¥I 9T QS0 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.
5. 3MUcAT FEITE TRAYREART [ATeard! Tl Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg.

Q. x : - Fill in the blanks. Visit www.rtsexam.com for Answer key after 8 days
My father went.........cccecvvveeiuvrnnee To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUCAER JHH SccRUTIehl THAETHIhS TRl .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3Year URET HATh TeAYRAHa Fear fAgrar a Hex yRAYREdenr aRat Hleraticder 3aedr diad =rd.
Write your Roll No. on the Question Paper too and take it home for future reference.




10.

11.

What is the meaning of the word ‘sassiness’?
A) Liveliness B) Impudence C) Impertinence D) All of these

Identify the sentence on the basis of their structure.
Since we bought our new car, prices have gone up dramatically.

A) Simple B) Compound C) Complex D) none of these

Fill in the blank with correct form of verb

The traffic police is trying hard to the violators of the traffic rules.
A) Crack up B) Crack in
C) Crack down on D) Crack through

Find the Antonym of the word:
Malicious-
A) Cruel B) Wicked C) Kind D) Awesome

Fill in the blank with suitable modal.

You be kidding ! that can’t be true.
A) have to B) ought to
C) should D) all of these

Fill in the blanks with most suitable determiner:
We expect man to do his best.
A) every B) whole C) less D) some

Fill in the blank with passive verb:

The crop of wheat by the hail storm.
A) Will be ruined B) will ruin
C) has been ruin D) none of these

Choose odd man out
A) Antique B) gift C) Ancient D) Archaic

‘RE FEUTS
A) dI¥ hIUTRT B) dI¥ SITdUTRT
C) AT HIOTRT D) 39arH ORI

‘Arelehs’ AT TATAS ATl THATH HIUTAT?
A) FcTdTHTa B) dcqey
C) =g D) SgdTer

g ATARTAR 3 s e,
INRGGIE B) f&fa=r C) &t D) &fifasr




12.

13.

14.
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16.

17.

18.

Gloltel FgulaT 31 TOse HIORT AT 9T fAd=T.
SIS Hel, ¢dadl fer -

A) foR@T AT B) THcHING HelsZ

C) fequara a@ee, W AN D) TEEUATT #el, ] gs¢ Hed
‘QRUSHI’ IT LUeGredT AT 9a fAqsr.

A) FIATIAT HOTRT B) 3

C) T o Aoy D) dadTer

EILST PISUY AT IIRTAIRETST 37

A) GEEIT B) 37lig gIoT

C) FraTdry groT D) AT IZ0T

T&I] AT Wielleldehl IUTT AT 3TE.
A) Teefrer B) geTefIoleT C) Tad D) 3f=id

thsaRT 2009 HEY
A) HRAT igdlel AGA Feard oll.

B) Rl Tehl<l dodl 10 HiFH IUIUE TTehIRIT Trafdel.
C) GlT 3YUGTT 3TahIATd TFHT STell.

D) ThrIcld g 3raehrelid AT 2MMesl Jedlax hlecbel
In February 2009,
A) Indian initiated its Chandrayan project

B) Indian Simultaneously launched its 10 satellites in space

C) Two satellites collided against each other in space

D) the space laboratory, skylab, had fallen on the earth’s surface.

HRATAT TRATITITd TaTd SEd oAy qa3uT JT 3R,
A) gRERETR B) et TR C) Jeels DNECEGIE]

The longest sea beach in India is at

A) Hari- hareshwar B) Chilka lake

C) Chennai D) Vembanad

CICICEED] a1g YGWUTH SISTEGR Hceh drg IuTcr?

A) GoTEST 3TFATSS B) ARICISI 3fTFATSS

C) FIeeT AR FASS D) alleT T@a

Which one of the following is a major pollutants which cause air pollution?
A) Sulphar Dioxide B) Nitrogen Oxide

C) Carbon Monoxide D) All of these
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20.

21.

22.

23.

24,

25.

26.

sToll &2l AT 3cATeaATd 3R 3Te.

A) g B) el C) e D) hidar

Italy is a leading producer of

A) Lead B) Tin C) Sulphar D) Coal

MSAT oIl AARATST TG 3.

A) 3TTETH B) D C) 9faH SameT D) fagR

What is a leading state in fresh water fishery?

A) Assam B) Kerala C) West Bangal D) Bihar

${ehaardl SIS ARG AR forely 3.

A) 40 B) 8 C) 30 D) 70

The thickness of the earth’s crust below the ocean floor is kms.

A) 40 B) 8 C) 30 D) 70

STHAIT dieisTar AATwA 4T dTgd.

A) Tod B) T C) =X D) TFH
river flows along the border of Germany and Poland.

A) Elbe B) Spree C) Oder D) Ems

A) PIhAT B) ITehT C) 3fTecH D) TS

Which of the following mountains is not a part of the European continent?

A) Caucasus B) Rocky C) Alps D) Apennines

39eT wfshar JHE YR ISdId.

A) dist B) IR C) aret D) 9

How many types of the weathering are there?

A) Three B) Four C) Two D) Five

fRFTer T &1 9qd 3Te.

A) 37afse B) Teil C) dlhadl D) SaTelred

Himalayais a mountain.

A) Residual B) Fold C) Block D) Ancient
ol TENT dreldAe o HRCAT FATA>ATT hiIel HoX holl.

A) 137el 1946 B) 15 3{TIIEE 1947

C) 1 31TITEE 1946 D) 18 SJot 1947

The British Parliament passed the India Independence act on

A) 1 July 1946 B) 15 August 1947

C) 1 August 1946 D) 18 July 1947
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28.

29.

30.

31.

32.

BUTs Forag AT & g&ar Iieil TATTT ol

A) FETCHT Hol B) ST.9TaTHRS 3fHg
c) 7™ Rger et R D) HHR HIZIT Iréret
The depressed class mission was established by
A) Mahatma Phule B) Dr. Babasaheb Ambedkar
C) Mharshi Vitthal Ramiji Shinde D) Karmaveer Bhaurao Patil
HoA 1806 HTell fEEr RIarm=ir JY 31T Fell.
A) dedllX B) SRThTY C) eI D) ;&
The revolt of 1806 by Indians took place at
A) Vellore B) Barrackpore C) Kolhapur D) Merath
the TSAPIAAT dadT i Jqed A Hedr grdr?
A) 10@T I3 B)9dl oS
C) 84Tl of$ D) 16T oIS
was ruling France during the French revolution.
A) Louise x B) Louise IX C) Louise VI D) Louise XVI

SIS AT $TRATT hegl faeieT Srer?

A) BSaRT 1948 B) Tfder 1948

C) ST=TarT 1949 D) heJdRT 1949
Junagad merged with India in

A) February 1948 B) April 1948

C) January 1949 D) February 1949

IR I dfgel TG HIUT FI?

A) A 9y B) Se=g grer

C) HGIcAT Imed D) ST.9TaTHTRS 3798
Who was the first editor of the Yogantar?

A) Barindra Ghosh B) Bipin Chandra Pal

C) Mahatma Gandhi D) Dr.Babasaheb Ambedkar

3ot TSaT HREHA foer = TUg= SIvfr SHel?

A) TRT Qi B) wIaTd AfAHcolE Wi
C) AlgHG SFaTd D) HZIG 3gHG Wl
Who was the founder of all India Muslim League?

A) Agha Khan B) Nawab Salimullah khan
C) Mohammad Igbal D) Syad Ahmed Khan
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34.

35.

36.

37.

38.

39.

‘T fohdT AT &7 aIRT ISl AT HeTTTardr e grar?

A) Q3T FcIETE B) HRd BIST 3Tclelet

C) 3THEPR 3iiarele D) TR HIASHIT 3iiereled

For which one of the following movement did Mahatma Gandhi give the slogan ‘Do or Die’?
A) Kheda Satyagrah B) Quit India Movement

C) Non-co-operation Movement D) Civil Disobedience Movement

AT AT FHATS ST FTell?

A) TIRTTT HTET B) GoAUTAAUTTAT HIAT
C) YATAAGTAT D) ITT ATEr
evoked the feeling of pride in the minds of Indians.
A) Foreign Language B) Transport Facility
C) Secularism D) none of these
ARG HITATHIT AT ARRALY Ui BT SoITA 3.
A) 23 AT 1941 B) 23 HIT 1931
C) 18 Ui 1930 D) 16 thslaRT 1933
Bhagat singh was hanged in Lahore on
A) 23 March 1941 B) 23 March 1931
C) 18 April 1930 D) 16 February 1933
AR TR HATAAT goFeh AT TATIAT T holl.
A) 1990 B) 1993 C) 1980 D) 1985
The government of India established Human rights commission in
A) 1990 B) 1993 C) 1980 D) 1985
SITfdeh SATIR HECATT FATTAT HTell STelT.
A) 1995 B) 1990 C) 1980 D) 1985
The world Trade organization was established in
A) 1995 B) 1990 C) 1980 D) 1985

HRATT G&T cgaedeal Fareduel Hiv HTd?

A) TIETOTHAT B) GdWHTT

C) TSy D) IWRTS¢YAT

The of India is the head of the Indian Armed Forces.

A) Defence Minister B) Prime Minister

C) President D) Vice President

WS &9 T

Simplify -

x2 y2 x5 y3

A) x7y5 B) x7y7 C) x5y5 D) x5y7
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41.

42.

43.

44,

45,

(2x3 - 5x% + 8x -5) AT (2x? - 3x + 5) ¥ HETATT HHR fohray ASeT?

A) x+5 B) x+4 C)x-1 D)x+2
Divide (2x3 - 5x% + 8x -5) by (2x% — 3x + 5) and find the quotient.
A) x+5 B) x+4 C)x-1 D) x +2

el |G HREATT 2100 ST 38T MY 3 fEaard qob gid; ¥ 14.7 x 10

Tol 3T MBS fohclT fead emaTciier?

A) 21 B) 7 C) 70 D) 210

In a Sugar Factory 2100 tonnes of Sugarcane is crushed in 3 days. How many days will be required
to crush 14.7 x 10® tonnes of sugarcane?

A) 21 B) 7 C) 70 D) 210

ThT MG AhEEIT 8000 3. SR UigedT a¥l 4T ShdTAd 10 % dTe STell T ga=T
it 20 % aTe STl X Glel auAd) &7 INAMT AhaEAT fohcl 3THel?

A) 9120 B) 9680 C) 9040 D) ITdhr ATEr

The Population of a village is 8000. It increases by 10% during 1%t year and by 20% during 2" year.
The population of village after 2 years is
A) 9120 B) 9680 C) 9040 D) None of these

109%Y g 2 Afgell ST 9 A HIH &H&eT Teh HIH 10 fea@rd qoT #drd. ol SR’ 15
T TH &l g9 A o fhdl Gaard qur adcdier?
A) 6 feaa B) 8 fgad ) 9 feaw D) 10 fgaw

10 men and 2 woman working 9 hours a day can finish the work in 10 days. No. of days in which
they can finish the work if they work for 15 hours daily is
A) 6 days B) 8 days C) 9 days D) 10 days

SR 6 . <A T 6 Q.H 3T I Flell Tellhcll el fAd@aell T card AT HTHRT

12 el IR hel, dX AT Ycdeh Il eI o gge.

A) 3 B) 2 C)4 D)5

A cylindrical shaped solid of diameter 6 cm and height 6cm is melted and 12 spheres of the same
size are made. The diameter of each speare will be cm.

A)3 B) 2 C)4 D)5

10.5 QY ST5[ IHHATT Tellehell UEIT HISATT HIST Tohcll TTthasrar el S Achel?

A) 4851 GHHY B) 606.375 AT

C) 1157.625 gdHT D) 1212.75 GTH&HY

What is the volume of the biggest sphere which can be kept in a cube of side 10.5 cm?
A) 4851 cc B) 606.375 cc

C) 1157.625 cc D) 1212.75 cc
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47.

48.
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50.

3MTehcilel AB 3TfOT AC aclasredl TUfRehl TS 3Tedl. AE=6,AD=5DE=7R
AB =

In the figure AB and AC are tangent segments to the circle with centre 0.
AE=6,AD =5, DE =7, then AB = ?

A)7 B) 9 C) 10 D) 7.5

FehroTeaT STSfa FolcdX 13 : 14 : 15 3M0T ARTA 84 df 3T R PR 8%
fordir?
A) 336 TIEHT B) 236 TIGAY C) 536 TIGAT D) 436 TIGAY

A triangle of perimeter 84 cm has length of sides in ratio 13 : 14 : 15 then the area of triangle is?

A) 336 Sq.cm B) 236 Sq.cm C) 536 Sq.cm D) 436 Sg.cm

TehT SRATEAT ETSTIFHIA HIGTUMET 30% WY Fldl. ool HIEToTadel @ gaur=ar
dJBuThadaT Al HIoT 34l

A) 30° B) 108° C) 120° D) 130°

In a financial budget of a country, 30 % of the total expenditure is proposed on defence. Then the
central angle of the sector of the Pie-diagram representing the expenditure on defence is

A) 30° B) 108° C) 120° D) 130°

50 fATY TN T Iod 100 fACT ST TS TolcWhiH 60 Heheld 3elisd a¥ Yeddr dT
fRrar?
A) arefr 9o frar B) arefr o foralr C) arefr 15 fpeft D) amefr 18 fraly

A train 50 meter long passes a platform 100 meter long in 60 sec. The speed of the train is

A) 90 km/h B) 9 km/h C) 15 km/h D) 18 km/h

21227 3 3Tz Rcd?

3364 D\
A) 4z B)3 = 0= D) %
The square root of 21% is
A) 42 B)3 = 0= D)%




51.

52.

53.

54,

55.

56.

57.

i :

5x-(3x+2)=x(3-2)-14

A) 16 B) - 16 C) 15 D) ITdhr ATET
solve the following :

5x -(3x+2)=x(3-2)-14

A) 16 B) - 16 C) 15 D) none of these

N TSRO 8% &3TeT 2 gV foideh Iehdie AT gid, faded Tlcsedrsl gIuITaTsT

@7 auTY) TRSATSTAT &3 e AT gar?

A) 8 B) 8.32 C) 16.64 D) 8.64

The compound interest compounded yearly at the rate 8% for 2 years is equal to the simple interest
for 2 years. Then the rate of simple interest is p.c.p.a.

A) 8 B) 8.32 C) 16.64 D) 8.64

3
ab®x b’ xc?1 _

Cube Root of

c? x al?
—bc3 bc* —ab* —bct
A B)——" C D
) o2 ) 2 ) 2 ) o2
(2a +3b +4c)2 ¥ TAEATRA FI HIUTA?
A)4a?2+9b%?+16c*+12ab+24bc +16ca B) a% +b? +2ca
C) a>—b? - 2ca D)a?—b?+2ac
Explansion of (2a + 3b +4c¢)? is ?
A)4a2+9b%+16c2+12ab+24bc +16ca B) a2 +b% +2ca
C) a>—b? - 2ca D)a?—b?+2ac
IR Te 3.
58 57545042 33 22
A) 57 B) 54 C) 50 D) 42
Find the odd man out
58 57545042 33 22
A) 57 B) 54 C) 50 D) 42

Uehl Tlohfder AN GUIDE & 2Teg 35214 31T fAfgeT d¥ DUG &T 2Teg har Tograr?

A) 135 B) 153 C) 123 D) 145
In a certain code GUIDE is written 35214. How is DUG written in that code?
A) 135 B) 153 C) 123 D) 145

TTellel TEITHATIT TATIeg=ar SATelT AUTRT TEIAT QM.

In the following number series find the number which will replace the question mark?
4,15, 16, ?,36,63,64

A) 25 B) 30 C) 32 D) 35
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59.

60.

61.

fRIgdst qdarget dls w&eT 3T 308, FIEN AR dl 100°FHIATT TSI HICIATN

G @ GogT 1450 FIATd USTeITAT HICIAT 3¢ el debell X 37T HIOTAT
R dis &t 39T A

A) Qs B) ST C) 3cchs NIGETEDE]

Shivtej is facing east he turns 100°in the clockwise direction and then through 145°in the

anticlockwise direction. Which direction is he facing now.
A) East B) North - East C) North D) South — West

Grellel e=ATc qfgedr yerar ga=ar Jerell STar §aY 3g dara Ja9 fag=ar gerar d@tear
gerel 3g, IawaT yAfegrear Sl AT AT gAY fAgsEr.

In the questions below the relationship between the first term and the second term is the same as
it in between the third and fourth term. Taking this into considaration which alternative will come
in place of question mark

EGIK : FILO :: FHJL:?
A) JGMP B) JGPM C) GJPM D) GIMP

18,19:13,28::32,21:?
A)9, 4 B) 8, 24 C) 14, 18 D) 9,24

CEG] 34Ta|3—c?r

~J

A) B) 0 D)
Which of the following figures complete the second pair in the same way as the first pair?
Question Figure

|

1DID:FO.

~J

Answer Figure

®O-

C) D)




62.

63.

64.

GrefleT 3fehciciler dlehlerdl HEAT faheil?

How many squares are there in the following figure.

A) 21 B) 23 C) 25 D) none of these
WreTeldehT HIOTeT del 3MTehcll feeledT dlel Teshiciel HaY ddldd aeiide?
e, a1 7 @™

Which of the following digrams indicates the best relation amongst the following?
Lion, Dog and Snake

0T

Q) D)

Glellel YTl IR THAT feeledn qaiage foasr.
TR 3TTehcll Jca 3l

A) B) ) D)
In the following question choose the correct mirror-image of the question figure from the options
Question Figure Answer Figure

B) C) D)

10

——
| —
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66.

67.

68.

69.

grellel HTehelld 9o Tegrean Sl o F&AT HIoTcr?
In the following figure which alternative will be in place of question mark?

16 18
4 ?
22
12
o 10
A) 20 B) 14 C) 24 D)6

@rellel AeaTa AT A HI0TAT?

1. 91 2. B 3.8 4. AD

5. El;_(vl'

A) 3,4,5,1,2 B)4,3,1,5,2

04,1,3,5,2 D)4,3,1,2,5

Arrange the words given below in a meaningful sequence.

1. Leaf 2. Fruit 3. Stem 4. Root
5. Flower

A) 3,4,5,1,2 B)4,3,1,5,2

04,1,3,5,2 D)4,3,1,2,5

faeera ug 3o

A) ACD B) QST C) IMN D) EGH
Find the odd man out:

A) ACD B) QST C) IMN D) EGH
faeera ug 3o

A) SBaTTe B) SHTAIR C) HaaIRa D) #19%5
Find the odd man out:

A) Belgaon B) Banglore C) Bhubaneshawar D) Bhopal

S SYSTEMATIC &T 2Teg Hihide HNT 8380964021 37T TAIfgellr d¥ SAME 8T Use AT

foger Siger?

A) 8469 B) 6908 C) 8906 D) 5906

If the word SYSTEMATIC is coded as 8380964021, how would the word SAME be coded?
A) 8469 B) 6908 C) 8906 D) 5906

11

——
| —
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71.

72.

73.

Qrellel o1 MTehcllal AT H&e] TRAT JccX ST,

Study the venn diagram given below and answer the following questions.

UL GREE RIS R I
passed in Math

EUEIREREIGEES L

passed in English

13
s e R =
passed in Marathi
=gl faware fahell Heol Secliol SArell?

A) 5

B) 6

C)8 D) 26

How many students passed in all the subjects?

A)5

B) 6

C)8 D) 26

aleer ST fawATe ATt fhel el 3ol smei?

A) 26 B) 12 C)5 D)7
How many students passed in both languages?

A) 26 B) 12 C)5 D)7
FIE fawaTd fahell Hel Secliol SArell?

A) 8 B) 13 C)21 D) 33
How many students passed in Marathi?

A) 8 B) 13 C) 21 D) 33

WIeeTeT Tehclel e $ET feell 3 el T qUT GIUITHIS! TTeileiieh e gy Qe

TR 3Tl

NaRd
N,

Select a figure which when placed in the blank space of the question figure would complete the

pattern
Question VFigure

Vardl
N,

Jca 3Tl

7

A)

B) C)

Answer Figure

DA

A)

A

B) C)

12

D)

D)

——
| —



74.

75

76.

77.

78.

JffFagrasIesT fhar 3fFasifafitels ar s sadar aw®
A) 2800°H. o 3300°H. ATIHTATA BIdl.

B) AERCGSRN UM AOTgSATAT JHiThaolaral qXaaT HIUITETST gle.
) afegar= 1 HIoIEST glar

D) AT C U&hT

The mixtures of Oxyhydrogen and Oxyacetylene are used
A) As flames for welding only at temperatures between 2800° ¢ and 3300° c
B) By the drivers at the ocean floor for the supply of Oxygen through cylinders
C) for welding in Industries

D) A and C together

FTelTerde! 0T TeTd e 318ar §Y fad A

1. —a'a?rso 2. AUIAT Mg=AT
3. ollehel Shidr 4. ST SlTehs et
A1l T2 B)2 T 3 Q)19 4 D)1d 3

Which of the following burns without a smoke being given off?

1. Butane 2. Cow during cakes
3. Charcoal 4. Firewood
A)land 2 B)2 and 3 C)1 and 4 D)1and3

g ufdeifas 3me
A) ACATH B) TLHIHAT ) R D) fepuaael

is an antibiotic.
A) Alcohol B) Streptomycin C) Aspirin D) Yeast
gfesT derarge g1 9erd fRasd .
A) dere B) 3= C) AT D) WMSTH I1H
is not obtained from mineral oil.

A) Petrol B) Diesel C) Kerosene D) Producer Gas
GrelleTdehT FaTeIEIaT Uerey ahluTa?
1. gRISISTeT 2. BIEHH 3. qroft 4. PISET
A) Had 1 B)1 T 2 C)1,3d 4 D)1d 4
The inflammable substances are -
1. Hydrogen 2. Phosphorus 3. Water 4. Coke
A)only 1 B)1and2 C)1,3and4 D)1 and

13

——
| —



2KI +H207 oo 2KOH + 1, IT HTATHIT dERIHA 3AEssa

80.

81.

82.

83.

84.

85.

86.

A) faeager B) HET C) 3fFEdleor D) &uuT
2Kl +H200 e 2KOH + Iz, In this reaction potassium iodide undergoes
A) Displacement B) Combination C) Oxidation D) Reduction
el H\ﬁﬂl@(‘ilﬂ Yceh alél
A) TG B) TSI C) YHB D) 3odhl
is not member of our solar system.
A) Asteroids B) Milky way C) Comets D) Meteors
Grefrerdehl 1T YT gehrd 382
A) MgCl, B) AICI3 C) NacCl D) H.0
Select the incorrect molecular form:
A) MgCl, B) AICI3 C) NacCl; D) H.0
g1 ST &7 feeT 31T,
A) 24 AT B) 8 AT C) 3 fBdsR D) 14 Tfder
World tuberculosis day is
A) 24 March B) 8 March C) 3 December D) 14 April
AT GSSHTE ATIHTA o F. 3TE.
A) 500 B) 6000 C) 60000 D) 10000
The surface temperature of sun is
A) 500 B) 6000 C) 60000 D) 10000
AT TS ISl 30T 3.
A)1d4 B)10d 14 C)14d 20 D)5d 20
Kerosene contains carbon atoms.
A) 1tod B) 10 to 14 C) 14 to 20 D) 5 to 20
Y TET AGfETe 39aE fahel Mg
A) 1 B) 6 g)o D)9
How many natural satellites Mercury has?
A) 1 B) 6 )0 D)9
Grolreldenr faaran gdargeh FIOTAT?
A) FprSe B) AT o R D) f&xr
Which one of the following is the good conductor of electricity?
A) Graphite B) Coal C) Lead D) Diamond
( )|
. “ )
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88.

89.

90.

91.

92.

g1 YT WIel [Oaer 31g.

A) Ca B)S C) Na D) Ag

Which one of the following metal is yellow in colour?

A) Ca B)S C) Na D) Ag

2008 AT TATFush ALY dgichcleh FauTuceh YCHIAUIRT Tigell $HRCIT HI0T?

A) 31T fogr B) fasier FAR

c) ferarst 99 D) Yretade T Wars

In 2008 , who became the first Indian to win an individual gold medal in the Olympic Games?
A) Abhinav Bindra B) Vijender Kumar

C) Leander Paes D) Rajyavardhan Singh Rathore

LEEGTAT I HIoTAT Wi Jaiad 3g?

A) MeH B) BTehr C) pediel D) Tshdhe
With which sport is the Rangaswamy Cup associated?
A) Golf B) Hockey C) Football D) Cricket

el I Nger 1T GAYAUNT ThaT Hedia] HIoTdr W1 IR arar?

A) fezar B) STT3TAT C) T D) duferdy
By mixing equal amount of Blue and yellow colours, which colour will result?
A) Green B) Purple C) Orange D) Brown

IMTH T STed TESHIOT el HTATEdT HIUTeAT ST 3T8?

A) T B) AU C) STATC D) 9Rd
Lumbini, the birth place of Gautam Budhdha is in which present country?
A) Bhutan B) Nepal C) Bangladesh D) India

TIST JaT TR TATYAT HIoT Shell?

A) HHEAR ATSEG qTérel B) FIATIH JEWIcdH WSH

C) 3I. MEHBRY D) HTeTdg FHIam

Who founded Maratha seva sangh?

A) Karmaveer Bhaurao Patil B) Yugnayak Puroshottam Khedekar
C) Dr. A.H. Solunkhe D) Bhalchandra kango
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93.

94.

95.

96.

97.

AT B EAT AR HeFd faeardiord detivren greelsr Arfge
38

A) ATeleT FFd faegmdis, arestr

B) SI.TETHTRS 3Hiasa Had facardis, gamle

¢) SRRT e T P R

D) Aol Y HF fdeaTds, FHefehcdr

‘Gyandarshan’ is an educational TV Channel of which Indian open University?

A) Nalanda Open University, Patna

B) Dr. Babasaheb Ambedkar open University, Hydrabad
C) Indira Gandhi National open University , New Delhi
D) Netaji Subhash Open University, Kolkata

RIS ThAT faafaiyr Aaser drelel AT HIoT?

A) Sl 9dITE B) YOI H@SIl

C) foereT dsiia ¥g3r D) U.I.N.37sqel HollH
Who is the only president of India to be elected unopposed?

A) Rajendra Prasad B) Pranav Mukharjee

C) Nilam Sanjiv Reddy D) A.P.J. Abdul Kalam

8T 22T TATa’uNd HalTeh FIe=IsT HTFarss Jrsar.

A) halsT B) ¥H C) o D) ¥Rd
The largest emitter of Carbondioxide in the atmosphere is
A) Canada B) Russia C) China D) India

NARTSET fohehe IRWET HEgTeT HS 3?2

A) TR (STHe) B) quI$ (Wgerd 3R TARIA)
C) UR@ (Wi ) D) 7S fewel ( R )
Where is the headquarter of International Cricket council(ICC)?

A) Munich, Germany B) Dubai(United Arab Emirates)
C) Paris (France) D) New Delhi (India)

XA T I I=ATdT QYT T FFoTard?

A) Solel I B) {3 (W

C) HepHAgsT W D) EFa® YT
What is the boundary line demarcating India china known as?
A) Curzon Line B) Durand Line
C) Mcmohan Line D) Redcliffe Line
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98.

99.

100.

IMYYCTCHS ATl HER EROT HIUMcAT FAGIGR ditrel ael?

A) ST B) STaxT C) HgAer D) Merar
Nagarjunasagar Dam in Andhra Pradesh in built across which river?

A) Krishna B) Kaveri C) Mahanadi D) Godavari

HRATIT Hohel EX] Scdlealld (GDP) Halfereh arer &Y 3.

A) FSY B) 3T C) Jar D) HaTaT AT

Which sector is the biggest contributor to India’s GDP?

A) Agriculture B) Industry C) Services D) All Contributes equally

SRS TS ARSI [AHATAS PIUTAT QAT 3Te?

A) TS B) ea C) ST D) qoI
Which city is served by Dr. Babasaheb Ambedkar International Airport?
A) Mumbai B) Delhi C) Nagpur D) Pune
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